cost [s]

success %

acrobot vO/swing down

4.5 -

4.0 -

3.5-

100 -

s

0 = — J
10010t 102

time [s]

—— 1iDBA* —— RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

acrobot vO/swing down_easy

3.0 -
2.5 -
100 - _,_'_r
50 - [
O_' L | ' ' L | ' ' L |
100 101 102
time [s]
—— iDBA* ——— RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

acrobot vO/swing up empty

6 -
e
4 - _I I
100 10! 102
r ’r
50- 7 lJ J
O_'rl' [ | N DI
100 101 102
time [s]
— jDBA* ——— RRT*-TO SST*
—— iDBA*-m —— RRT*-TO-m



cost [s]

success %

acrobot vO/swing up obs

8 -

6- -IL_-
S
100 10010

100 - r, 7

|J 1 §

50 - ‘_’;—r—’-’-rrpa_. !
O_'H ' L | ' ' ' L | L |
109 101 102

time [s]

—— jDBA¥* —— RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

acrobot vO/swing up obs hard

100 101
l_|J - —
50 - E :l ﬂ I
0 _' ' ' ' AL | ' ' ' ' L | ' ' ' ' L |
109 101 102
time [s]
— iDBA* - RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

carl vO/bugtrap 0

50 -
100 10t 102
100' '_l
N EF
O_' L L | ' ' L L | ' ' L |
100 101 102
time [s]
— iDBA* —— RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

100 -

50 -

100 -

50 -

carl vO/kink O
L

E
100 101 102
[ [ e S
100 101 102
time [s]
— iDBA* —— RRT*-TO SST*
—— iDBA*-m —— RRT*-TO-m



cost [s]

success %

40 -
20 -

100 -

50 -

carl vO/parallelpark O

100

101
109 101
time [s]
— iDBA* —— RRT*-TO
—— iDBA*m  —— RRT*-TO-m

102

102

SST*



cost [s]

success %

100 -

50 -

quad2d vO/empty O

100

10!

102
100 10! 102
time [s]
—— iDBA%* ——— RRT*-TO SST*
—— iDBA*m = —— RRT*TO-m



cost [s]

success %

quad2d vO/empty 1

3 -
2 -
109 101
]_OO "
50 -
0- — p—
109 101
time [s]
— iDBA* —— RRT*-TO
—— iDBA*m = —— RRT*-TO-m

102

102

SST*



cost [s]

success %

10 -

100 -

50 -

quad2d vO/fall through

—

109 101 102
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



cost [s]

success %

100 -

50 -

quad2d vO/quad2d recovery obs

1

= N
109 101 102
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



quad2d v0/quad2d recovery wo obs
. 3.175-

2,

= 3.150 -

wn

S 3.125-

X 100

wn

wn

<) 50 -

O

O

a O_' L | ' ' LR | ' ' LR |
100 101 102

time [s]
— iDBA* - RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

15 -
10 -

100 -

50 -

quad2d vO/quad bugtrap

102
Fr—
..;,"'—r"rr
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



cost [s]

success %

7.5 -

5.0 -

100 -

50 -

quad2d vO/quad obs column

_“‘_“‘-I_
100 101 102
— ~
100 101 102
time [s]
— iDBA* —— RRT*-TO SST*
—— iDBA*m  —— RRT*-TO-m



cost [s]

success %

quad2dpole vO/down

109 101 102
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*
—— iDBA*m  —— RRT*-TO-m



quad2dpole vO/move with down

o 2.40 -
D 2.38 -
2 2.
(@]
2.36 - e =
100 101 102
X 100 -
wn
n
o 50-
O
@]
a O_'H AL | . . L | . . L
100 101 102
time [s]
— DBA* ——— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



cost [s]

success %

100 -

quad2dpole vO/move with up

100

10!

50 -

102
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*
—— iDBA*m  —— RRT*-TO-m



quad2dpole vO/up

‘n 3.75-

+ 3.50 -

3 3.25- _
10010t 102

X 100-

wn

wn

O 50-

O

(@)

(% O_' L | ' ' L | ' ' LR |
100 10! 102

time [s]
—— iDBA* —— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



cost [s]

success %

Rotor Pole - Swing up obstacles

10 -
s e
100 10! 102
100 - I
50 - ,_:—'_’_’J_,
0- =]
100 10! 102
time [s]
— DBA* ——— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



cost [s]

success %

20 -

10 -

100 -

quad2dpole vO/window

100

inﬁ

100

—— 1DBA*
—— iDBA*-m

101 102
10t 102

time [s]
—— RRT*-TO SST*

—— RRT*TO-m



cost [s]

success %

15 -
10 -

100 -
50 -

0_.

quad2dpole vO/window easy

—

100 101 102

10010t 102
time [s]

— jDBA* ——— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



cost [s]

success %

5_

100 -

50 -

quad2dpole vO/window hard

h

100
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



cost [s]

success %

quadrotor vO/empty O easy

!d
=
1

—_ —_
(@) N
o |
_

100 -
50 -
0_' L | ' ' L L | ' ' L |
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

quadrotor vO/empty 1 easy

B

2.0 -
1.5-
100 10t 102
]_OO "
50 -
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



cost [s]

success %

quadrotor vO/quad one obs

6_
4_
10010t 102
100 -
50 - J
o i
100 10! 102
time [s]
— iDBA* —— RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

100 -

50 -

quadrotor vO/recovery

100

10!

102
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*
—— iDBA*m  —— RRT*-TO-m



cost [s]

success %

quadrotor vO/recovery with obs

5 -
4 -
3_' L | ' ' L L | ' ' L |
109 101 102
100 - J
50 - "_'—f_l_‘f
O _4I:h
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

100 -

50 -

quadrotor vO/window
D—

100 10!
time [s]
—— jDBA¥* —— RRT*-TO
—— iDBA*-m —— RRT*TO-m

102

SST*



cost [s]

success %

0.9 -

0.8 -

100 -

50 -

quadrotor vl/empty O easy

100 101 102
100 101 102
time [s]
— DBA* ——— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



cost [s]

success %

quadrotor vl/empty 1 easy

7.5 -
5.0 -
2.5 -
109 101 102
100 -
50 -
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*
—— iDBA*m  —— RRT*-TO-m



cost [s]

success %

100 -

50 -

quadrotor vl/quad one obs

= | |
wj
- S
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

quadrotor vl/recovery

2.2 -E

2.0-

100 101 102
100
50 -
0' L | ' ' L | ' ' L |
100 101 102
time [s]
—— iDBA* ——— RRT*-TO - SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

100 -

50 -

quadrotor vl/recovery with obs

B
102
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

10 -

100 -

50 -

Quadrotor vl - Window
B

100 10t 102
time [s]

—— 1DBA* —— RRT*-TO SST*
—— IDBA*m  —— RRT*TO-m



cost [s]

success %

Unicycle 1 vO - Bugtrap

100 -
50 - B
100 101! 102
100 -
50 -
o-—=
10° 101! 102
time [s]
—— iDBA* ——— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



cost [s]

success %

60 -

40 -

unicyclel vO/kink 0O

20 M

100
100 -
50 -
0 _- |
100
—— 1DBA*
—— 1IDBA*-m

101 102
10t 102
time [s]
—— RRT*-TO SST*

—— RRT*TO-m



cost [s]

success %

100 -

50 -

unicyclel vO/parallelpark 0

100

100

—— 1DBA*
—— iDBA*-m

10!

10!
time [s]
—— RRT*-TO
—— RRT*-TO-m

102

102

SST*



cost [s]

success %

75 -

50 -

25 -

100 -
50 -

O_v

unicyclel v1/kink 0O

109 101 102
’7 #,_l_'
100 100 102
time [s]
— iDBA* —— RRT*-TO SST*

—— IDBA*m  —— RRT*TO-m



cost [s]

success %

40 -

20 -

100 -

50 -

unicyclel v2/wall O

100

101

102
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*
—— iDBA*-m —— RRT*-TO-m



cost [s]

success %

unicycle2 vO/bugtrap 0

100 -
50 - L
10010t 102
100 -
50 - 4'_'_,_.—'_'_H—
0 — ~
109 101 102
time [s]
— iDBA* —— RRT*-TO SST*

—— iDBA*-m —— RRT*TO-m



cost [s]

success %

100 -

unicycle2 vO0/kink 0

100 10! 102

100 10! 102
time [s]
—— jDBA¥* —— RRT*-TO SST*
—— iDBA*m  —— RRT*TO-m



cost [s]

success %

30 -
20 -

10 -

unicycle2 vO/parallelpark 0

100

100 -=———

50 -

100

—— 1DBA*
—— iDBA*-m

10!

10!
time [s]
—— RRT*-TO
—— RRT*-TO-m

102

102

SST*



